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1. Stockholm Conference was held in
(A) 1974
(B) 1972
(C) 1970
(D) 1984

2. Photosynthesis is performed by
(A) Producers

(B) Primary consumers

(C) Omnivores

(D). Detritivores

3. Which of the following is not a physical

component of environment?

(A) Water
(B) Virus
(C) Soil
(D) Air

4. Which of the following is a radioactive

element?

(A) DDT
(B) CFC
(C) PAN
(D) U235

5. Full form of UNEP is

(A) United Nations Environment Policy

(B) United Nations Environment
Programme '

(C) United National Environment Program
(D) United National Environment Process
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6. Which one is a waterborne disease?

(A) Pneumonia
(B) Thalassemia
(C) Typhoid
(D) Measles

7. Main component of social environment is

(A) Culture

(B) Air

(C) Animal kingdom
(D) Plant kingdom

8. Which one is an artificial ecosystem?

(A) Desert ecosystem

(B) Pond ecosystem

(C) Farming field ecosystem
(D) Forest ecosystem

9. Which one is not a decomposer?
(A) Snail
(B) Termite
(C) Snake
(D) Earthworm

10. Ozone layer is present in
(A) Stratosphere
(B) Mesosphere
(C) Troposphere
(D) Ionosphere
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11. Which causes Minamata disease?
(A) Cd '
(B) As
(C) Hg
(D) Pb

12. Small microscopic floating water organisms
are called as ' |

(A) Producer
(B) Flora
(C) Fauna
(D) Plankton

13. Who coined the term Ecology?
(A) E.Haeckel
(B) E. Odum
(©) J. Watson
(D) A.G. Tansley

14. Energy flow in an ecosystem is
(A) Unidirectional
(B) Bidirectional
(C) Multidirectional
(D) Downward

15. Primary consumers are
(A) Decomposer
(B) Herbivore
(C) Omnivore
(D) Carnivore
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16. Main energy source in ecosystemn is
(A) ATP
(B) Sunlight
(C) DNA
(D) RNA

17. Which day is celebrated as World
Environment Day?

(A) 23rd March
(B) 5th June

(C) 5th July

(D) 12th December

18. Full form of LPG is
(A) Liquidity Petroleum Gas
(B) Liquid Petroleum Gas
(C) Liquidation Petroleum Gas
(D) Liquefied Petroleum Gas

19. Forestry by plantation is called
(A) Afforestation
(B) Deforestation
(C) Silviculture
(D) All of the above

20. With which environmental movement was
Medha Patkar associated?

(A) Silent Valley Movement

(B) Narmada Bachaao Movement
(C) Chipko Movement

(D) Save Wetland Movement
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21. Which plant gives biodiesel? 21. (@i Bfgw cacm amfersa Aveu ame
(A) Ficus sp. (A) Ficus sp.

(B) Solanum sp. (B) Solanum sp.

(C) Mangifera sp. (C) Mangifera sp.

(D) Jatropha sp. (D) Jatropha sp.

22. Which of the following diseases usually 22. TEfEe @ e A 7= AEe e
spread through air? (A) @
(A) Plague ' '
B) GiREEC
(B) Typhoid , ®)
(C) Cholera (C) s
(D) Tuberculosis ' ' (D) T
23. Which of the following is biodegradable? 23, e @D R e
(A) Paper (A) TS
(B) Plastic (B) #f%s
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26.' Soil erosion removes surface soil which
contains
(A) Organic matter
(B) Plant nutrients
(C) Both (A) and (B)
(D) Heavy metals

27. “Kyoto Protocol’ was signed in
(A) 2004
(B) 2001
(© 1997
(D) 1996

28. Which disease is caused by cadmium
pollution?
(A) Itai-itai
(B) Minamata
(C) Pneumonia
(D) Anaemia

29. Secondary pollutant is
(A) SO,
(B) PAN
(©) CO
(D) CO,

30. The air pollutant emitted from paddy fields
is
(A) CO
(B) CO,
(©) H0,
(D) CH,
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31. Whenwas ‘The Air (Prevention and Control
of Pollution) Act’ enacted?

(A) 1980
(B) 1981
(C) 1986
(D) 1989

32. Full form of CPCB is
(A) Central Power Control Board
(B) Central Protection Control Board
(C) Central Population Control Board
(D) Central Pollution Control Board

33. Example of communicable disease is
(A) AIDS |
(B) Cancer
(C) Stroke
(D) Diabetes

34. The study of population is known as
(A) Biography
(B) Demography
(C) Autography
(D) Calligraphy

35. In which state Silent Valley is located?
(A) Odisha
(B) Tamil Nadu
(C) Karnataka
(D) Kerala

(9)
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36. Earth Day is celebrated on
(A) 22nd April
(B) 24th April
(C) Sth June
(D) Sth July

37. Inwhich State Jim Corbett National Park is
located?

(A) Odisha
(B) Uttarakhand
(C) Rajasthan
(D) Haryana

38. ‘Nature’s Kidney’ is
(A) Green Plant
(B) Soil
(C) Wetland
(D) Water body

39. Which is released through vehicular
exhaust?

(A) CO

(B) Hydrocarbon
(©) S0,

(D) All of the above

40. Chernobyl disaster is associated with
(A) Noise Pollution
(B) Air Pollution
(C) Radioactive Pollution
(D) Water Pollution
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41. ‘Blue baby syndrome’ is caused by
(A) Nitrate pollution
(B) CO, pollution
(C) Sulfur pollution
(D) Mercury pollution

42. Full form of CFC is
(A) Cal:bon For Carbon-dioxide
(B) Chlorofluorocarbon
(C) Carbon-Fluorine-Carbon
(D) Critical Fluoride Concentration

43. Which is not found in Acid rain?
(A) H,SO,
(B) HNO,
(C) HNO,
(D) H,CO,

44. Choleraisa disease.
(A) Foodborne
(B) Waterborne
(C) Vectorborne
(D) Airborne

45. Which one is not a organochlorine

compound?
(A) DDT
(B) BHC
(C) Aldrin
(D) Malathion
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46. Which processis notincluded underdisposal
of solid waste?

(A) Open dumping
(B) Incineration
(C) Composting
(D) Ocean dumping

47. Which one is note an example of biome?
(A) Mountain .
(B) Desert
(C) Tundra
(D) Grassland

48. Which one of the followingis an example of
in-situ conservation?
(A) Sanctuary
(B) Zoological park
(C) Gene bank
(D) Seed bank

49. Whichone ofthe following is not associated
with earthquakes?

(A) Focus

(B) Epicentre

(C) Sphygmomanometer
(D) Seismograph

50. In which year “The Wild Life (Protection)
Act’ was implemented in India?

(A) 1970
(B) 1971
(C) 1972
(D) 1973
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51. Discarded medicine vials of hospital are
disposed in

(A) Red bag
(B) Yellow bag
(C) White bag
(D) Blue bag

52. The maximum number of individuals in an
environment can be supported is called

(A) Carrying capacity
(B) Optimum population
(C) Population explosion
(D) Stable population

53. ‘Biodiversity’ word first used by
(A) Wilson
(B) W.G. Rosen
(C) W.R.Rosen
(D) Norman Myers

54. Full form of WWF is
(A) World Wild Forest Fund
(B) World Wildlife Fund for Nature
(C) World Wildlife Fund
(D) World Wide Fund for Nature

55. The first national park established in India
(A) Kaziranga
(B) Kanha
(C) Jim Corbett
(D) Sundarban
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36. Main objective of Ramsar Convention is
(A) Wildlife conservation
(B) Conservation of wetland
(C) Conservation of biodiversity
(D) Conservation of soil

S7. Which organization publishes Red Data
Book?

(A) TUCN
" (B) UNEP

(C) WWF
. (D) ICMR

58. Which country has highest biodiversity?
(A) India |
(B) China
(C) Brazil
(D) Peru

59. Which is not a non-renewable source of
energy?

(A) Forest
(B) Coal

(C) Biogas
(D) Water

60. Nandankanan is an example of
(A) Biosphere reserve
(B) Sanctuary
(C) Zoo
(D) Botanical garden
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61. Whichamongthe following is ab10d1vers1ty
hotspot in India?

(A) Thar

(B) Western Ghat
(C) Aravalli Hills
(D) Easgem Ghat

62. An ecosystem consists of
(A) Population
(B) A biotic community

(C) A population and its non-living
elements

(D) Abioticcommunity and its non-living
elements

63. Which human activity can decrease the
~ oxygen level in the atmosphere?

(A) Deforestation
'(B) Animal hunting
(C) Mining

(D) Both (A) and (C)

64. What are the numbers of biodiversity
hotspots in the world (as on 2022)?

(A) 18
(B) 28
(C) 32
(D) 36

65. The point of the earth’s surface directly

above the point where an earthquake occurs 1s
called

(A) Focus
(B) Epicenter
(C) Fracture
(D) Fault

(15)
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66. CFCs are used as
(A) Insulators
(B) Acrosol propellants
(C) Refrigerants
(D) All of the above

67. The most frequent and naturally occurring
disaster is

(A) Drought
(B) Tsunami
(C) Flood

(D) Earthquake

68. Which of the following factors leads to
Eutrophication?

(A) Excessive use of fertilizers
(B) Increase of plant nutrients
(C) Both (A) and (B)

(D) None of the above

69. pH of the neutral water is
(A) 50
(B) 65
(C) 80
(D) 25

70. Vermicompost is formed by
(A) Cow
(B) Bacteria
(C) Fungi
(D) Earthworm

(16)
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71. Dengue is caused b

- y which mosquito
DCC1ES !

(A) Anopheles mosquito
(B) Aedes mosquito
(C) Culex mosquito
(D) Psorophara mosquito

172. In India a cold desert 1S seen in
(A) Rajasthan
(B) Ladakh
(C) Sundarban
(D) Puskar

73. The unit of Noise Pollution is
(A) Hertz
(B) dB (Deci Bel)
(C) Joule

(D) Sound level meter

74. What are the two forms of alcohol included
in biofuels?

(A) Ethanol and methanol
(B) Ethanol and Propanol
(C) Methanol and Propanol
(D) None of the above

75. Which activity can cause to lowering water
lavel?

(A) Overgrazing

(B) Soil erosion

(C) Human population on growth
(D) Over extraction of groundwater

(17)
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76. What are the ‘Keystone' species in an
ecosystem?

(A) The species whose elimination can
seriously affect the ecosystem

(B) The species whose elimination can
benefit the ecosystem

(C) The species whose elimination would
not affect the ecosystem

(D) None of the above

77. Which of the following is responsible for
an increase in population density?

(A) Age structure

(B) Emigration is more
(C) Immigration is more
(D) Death rate increase

78. Deforestation generally decreases
(A) Rainfall
(B) Soil erosion
(C) Drought
(D) Global warming

79. Genetic diversity is defined as
(A) Diversity within flora
(B) Diversity within the fauna
~ (C) Diversity within the species
(D) Diversity within the flora and fauna

80. Which of the followingis a correctsequence
found in a atmosphere

(A) Oxygen (0O,) > Nitrogen (N;) >
Carbon dioxide (CO,) > water vapour.

(B) N, > O, > CO, > water vapour

(C) N, > 0, > water vapour > CO,

(D) O, > water vapour > N, > CO,

(18)
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THE UNIVERSITY OF BURDWAN
GENERAL INSTRUCTIONS TO THE EXAMINEE

The Examinee must not write his/ her Name or the Name of his/ her College any
where in the Question-Answer-Booklet but should Write only his/ her Roll & Number

and Registration Number (with the year thereof) on the First Page of his/ her
Question-Answer-Booklet.

Pencil or Red Ink should not be used for Answering Questions. However, Pencil
may be used for Sketching/ Drawing/ Labeling.

No loose paper will be provided for scribbling and No Paper is to be brought in

for this purpose. Any Examinee found with incriminating Documents in his/ her
possession will be EXPELLED.

All work must be done in the Question-Answer-Booklet provided, and the Pages
of the Booklet must not be torn out. The Booklet provided must be submitted.

Examinees are forbidden to write Answers (or anything else) on the Question
Paper Or Admit Card.

No Examinee will be allowed to leave The Examination Hall until and Hour has
elapsed from the time when the Question-Answer-Booklet are given out.

As per order of Executive Council all Answer Scripts will be preserved for
One Year from the Date of Publication of Results.
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